TR
) 7

- 7%
Finld?

b 15K

=4 65mLLE

AD100K‘C“3}T:%

HZ&%Z100 ADEICHIZTHEI U,

ZNZNDEEDHF TH Do (FAL19FE~TFRL244F)

EE—'TL’CL\ZDOJIE!:';?

EbnTLamniz? 43.2A
4.4\

+=IC N
DL\lZ'L\%)O)(at? 49 -2A

EnpNTLani? se 24.7A

it 18.5)\

ERreEs? n—r Z.0A
ZILINA R 28)\

g 0.7)\

LIS 2.8)\
TU—5—(F? 1.4
boggest (4o 2.2A

A
A

= o vy e A
thipte A

EiE A 4
=L A

ZD5575mALIX?
A

EHFRC
BULTWLBADIE?
8350509 1 3.6A

ROEME

BULTWLBADIE?
B60BSRILL 4.7A

ERFEEIIAZZ? 30.2A

ERERSHEER? 0.5

At OREESH CIEE) 37
22.7 A



S EREEZOHIRIRESL?
RBAICAFLTWLSDIE? 1 .7)\ 1 (s ) 14_9)\

== (L7 6.2\ ®2E505U-IV.0BE) 29.7 A
O w3s @ snrrsonEs /.7 A
sErEzrery W/ 1.6A

_ \ = &l EZRESOTREG? 22.5A
NE'Y—ER%Z

BHFTVBOE? gp - 3.6A
i\
7 OOmK
N \ EE BN BN
G| % NN EN EN
]

INAEESDE? = 1 2.8A
[cDWT an 4.TA

HEETHAICIRZDIE?

BRI TSN [ FI KB g 272N
ERROTVWBDI(E? 21 2
ot 1 2.2A att £ 1. LA
Ak A3 (TYRY, BRRNER T —IC
SEL SO RRE
ANLVZEBLTVBOE? zlcwani? 0.33A
L 46.58 5 xsruvovvro—nn &S
" o R — 4 BEOHND ndl
. BEVARRIRE O FRETHEE? —
e ROTCEN B R0 s a0~74m 1 1.9A |
I 2omue 64.3A amao~7am 48N <
RIPITHIRET WIS (SEEE LT LB D(E?
wRlchanik? 37.0A SRS 13.8
B (2051 E) OA
HSEIRERS (L ? 1}_6A (20 L) 1 2.5A
A 124 omm  1.3A  ERERIAEGE? 505
mRE 214 WmEsE 1.0A e BRrmE IL.IA
BIERES 7.1A mxemsr 30.0A

X [EEBER] . SHEOEEERE. SIEERENUEERZRVHIETH S,



